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Ĥư पğ Đमांक................................... 
Ĥवेश परȣ¢ा 2014 (Ēुप-एफ) 

रोल नंबर ...........          अिधकतम अंक - 150     समय  - 90 िमनट 
 

मह×वपूण[ िनदȶश 
1. इस Ĥư पǔुèतका मɅ कुल 150 Ĥư हɇ। सभी Ĥư अिनवाय[ हɇ। 
2. Ĥ×येक Ĥư के चार वकैǔãपक उƣर a, b, c और d Ǒदए गये हɇ ǔजनमɅ से एक सहȣ है। 
3. ओ.एम.आर. शीट उàमीदवार को अलग से दȣ जाएगी, ǔजसमɅ सहȣ उƣर को परूा भरना है। 
4. Ĥư के एक से अिधक उƣर Ǒदये गये तो वह èवतः हȣ रƧ हो जाएगा।  
5. उƣर गलत होने पर अंक नहȣ ंकाटे जाएंगे। 
6. रफ काय[ इस पǔुèतका मɅ हȣ करना होगा। 
7. यह Ĥưपğ परȣ¢ा ख×म होने के बाद ओ.एम.आर. शीट के साथ जमा करवाना है। अÛयथा 

उàमीदवार को परȣ¢ा से अनपुǔèथत समझा जाएगा। 
8. परȣ¢ा के दौरान अनशुासन बनाए रखɅ। 
9. अनवुाद व अÛय ǒवसंगित मɅ ǑहÛदȣ का Ĥư सहȣ माना जाएगा। 

 

Entrance Test 2014 (Group - F ) 
 

Roll No...........                Maximum Marks - 150            Time-90 Minutes 
 

Important Instructions: 
1. This question booklet contains total 150 questions. Answer all the questions. 
2. Each question has four options (a), (b), (c) and (d), out of which one is correct. 
3. The candidate is required to darken completely correct option in the OMR answer sheet 

supplied separately. 
4. Answer will get cancelled if it is not answered or two or more answers are given.  
5. There will be no negative marking. 
6. Rough work may be done in this question booklet itself. 
7. Submit the entrance test paper along with OMR answer sheet to the invigilator otherwise 

the candidate will be considered absent. 
8. Maintain discipline during the examination. 
9. In case of doubt or discrepancy in translation Hindi version will be treated as correct. 
 

Signature of the Invigilator                 Signature of the Candidate 
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1. Pokhran is a place where there is 
 a) India's satellite launching centre   

b) India's rocket launching centre  
 c) Site of India's atomic explosion 
 d) India's space programme centre 

*iks[kj.k* og LFkku gS tgkaW 
a)  Hkkjr dk mixzg iz{ksi.k dsUnz gSaA 
b)  Hkkjr dk jkWdsV iz{ksi.k dsUnz gSaA 
c)  Hkkjr dk ijek.kq Ikjh{k.k dk LFkku gSaA 
d)  Hkkjr dk vUrfj{k dk;Zdze dsUnz gSaA 
 

2. Which city is known as Silicon Valley of India? 
 a) Mumbai  b) Benglore (Bengluru) 
   c) Jaipur   d) Delhi 

Hkkjr ds fdl ’kgj dks *flyhdkWu oSyh* dgrs gS? 
a)  eqacbZ   b) cSaxyksj 

 b)  t;iqj   d) fnYyh 
 

3. Gateway of India is located in _____. 
 a) New Delhi  b) Mumbai  
 c) Chennai   d) Kolkata 

xsVos vkWQ bf.M;k* dgkaW fLFkr gS? 
a) ubZ fnYyh   b) eqacbZ 
c) psUubZ   d) dksydkrk 
 

4. India is declared free from which of the following diseases   
 a) Rabies   b) Bird flue 
 c) Polio   d) TB 

Hkkjr fuEu esa ls fdl chekj+h ls eqDr ?kksf"kr gqvk gS 
a)  jscht   b) cMZ Q~yw 
c)  iksfy;ks   d) Vh ch 
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5. Every year March 20 is celebrated as what day. 
 a) World Sparrow Day b) International Women's Day  
 c) International Mother's Day d) World Cuckoo Day 

izR;sd o"kZ 20 ekpZ dks euk;k tkrk gS & 
a)  vUrjkZ"Vªh; xksjS;k fnol b) vUrjkZ"Vªh; efgyk fnol  
c)  enlZ Ms   d) vUrjkZ"Vªh; dks;y fnol  
 

6. Which of the following term is associated with the game 
of cricket? 

 a) Bouncer   b) Goal 
 c) Mid Court  d) Collision  

fuEu esa ls D;k fdzdsV ds [ksy ls lacaf/kr gS? 
a)  ckmUlj   b) xksy  
c)  feM dksVZ  d) dksfytu 

 
7. Which of the food item is rich in iron?  
 a) Rice   b) Apple 
 c) Pulses   d) Orange   

fuEu esa ls dkSu lh [kkn~; lkexzh ykSg rRo ls izpqj gS? 
a)  pkoy   b) lso 
c)  nky   d) larjk 
 

8. An astronaut in outer space will observe sky as- 
 a) White   b) Black 
 c) Blue   d) Red 

fdlh [kxksy foKkuh dks varfj{k ls vkdk’k fn[ksxk-   
a)  lQsn   b) dkyk 
c)  uhyk   d) yky 
 
 



4 
 

9. Which of the following planets has its orbit closest to sun? 
 a) Venus   b) Mars 
 c) Jupiter  d) Uranus   

fuEu esa ls fdl xzg dh d{k lw;Z ls fudVre gS - 
a)  'kqdz   b) eaxy 
c)  cg̀Lifr   d) ;wjsul 
 

10. Which of the following is not a natural hazard? 
 a) Volcano   b) Earthquake 
 c) Land slide  d) Chemical disaster  

fuEu esa ls D;k izkdf̀rd vkink ugha gS? 
a) Tokykeq[kh  b) Hkwdai 
c)  HkwL[kyu  d) jklk;fud ladV 
 

11. Which of the following products is not produced in a small 
scale industry? 

 a) Paper   b) Furniture 
 c) Edible oil  d) Petrol 

fuEu esa ls fdldk mRiknu y?kq m|ksx iSekus ij ugha gks ldrk& 
a)  isij   b) QuhZpj 
c)  [kkn~; rsy  d) isVªksy 
 

12. Din-i-Ilahi indicates the name of a/an - 
 a) Mosque  b) Emperor 
 c) Saint   d) Religion 

*nhu&,&bykgh* bafxr djrk gS- 
a)  efLtn   b) ckn'kkg 
b)  lar   d) /keZ 
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13. Iodine in salt is helpful in preventing- 
 a) Diarrhea  b) TB 
 c) Goitre   d) Flu 

*ued dk vk;ksMhu* fuEu ls fdldks jksdus esa lgk;d gS 
a)  Mk;fj;k   b) Vh ch ¼risfnd½ 
c)  xkW;Vj ¼?ksa?kk jksx½ d) ¶yw 

 
14. Nobel Prize is not awarded in the field of - 
 a) Economics   b) Peace  
 c) Music   d) Medicine 

fuEu esa ls fdl {ks= esa ukscsy iq:Ldkj ugha fn;k tkrk gS- 
a)  vFkZ'kkL=  b) 'kkafr 
c)  laxhr   d) fpfdRlk 
 

15. Which state is famous for Kuchipudi Dance? 
 a) Andhra Pradesh  b) Himachal Pradesh 
 c) Tamil Nadu  d) Chattisgarh 

fuEu esa ls dkSu lk izns’k *dqphiqM+h* uR̀; ds fy, izfl) gS 
a) vkU/kzizns'k  b) fgekpy izns'k  
c)  rfeyukMq  d) NRrhlx<+ 
 

16. Author of the book "Wings of Fire" is - 
 a) Arunadhati Roy b) Dr. A.P.J. Abdul Kalam 
 c) R.K. Narayan d) Pt. Jawaharlal Nehru 

*foaXl vkWQ Qk;j* uked iqLrd ds ys[kd gS? 
a)  v:a/kfr jk;  b) MkW- ,- ih- ts- vCnqy dyke 
c)  vkj- ds- ukjk;.k d) ia- tokgj yky usg: 
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17. What is the minimum age to be eligible for becoming the 
president of India? 

 a) 35 Years  b) 45 Years 
 c) 22 Years  d) 55 Years 

jk"Vªifr in ds fy;s U;wure vk;q dh ;ksX;rk gS 
a) 35 o"kZ   b) 45 o"kZ 
c)  22 o"kZ   d) 55 o"kZ 
 

18. Which of the following combinations of the name of 
countries and their capitals is not correct? 

 a) Bangladesh-Dhaka b) Afghanistan-Kabul 
 c) China-Beijing  d) Italy-Milan 

fuEu esa ls fdl ns’k vkSj mldh jkt/kkuh dk tksM+k lgh ugha gS 
a)  caXykns'k & <kdk b) vQxkfuLrku & dkcqy  
c)  pkbuk & chftax d) bVyh & feyku 
 

19. Acid rain is due to air pollution by- 
 a) Carbon dioxide and carbon monoxide     
 b) Methane and Butane  
 c) Nitrous oxide and sulphur dioxide  
 d) Carbon particles  

*vEyh; o"kkZ* fdlds }kjk ok;q iznw"k.k ls gksrh gS- 
a)  dkcZu MkbvkWDlkbM vkSj dkcZu eksuksvkWDlkbM  
b)  feFksu vkSj C;wVsu  
c) ukbVªl vkWDlkbM vkSj lYQj MkbvkWDlkbM 
d)  dkcZu d.k 
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20. The mirror which is used as a rear-view mirror in vehicle.   
 a) Concave mirror b) Convex mirror 
 c) Plane Mirror d) Cylindrical mirror 

okgu esa ihNs Hkkx ds VªSfQd dks ns[kus ds fy, fdldk iz;ksx gksrk gS? 
a)  vory niZ.k  b) mRry niZ.k  
c)  lkekU; niZ.k  d) flysf.Mªdy niZ.k  
 

21. Which one of the following gases is used for the 
purification of drinking water?  

 a) Chlorine  b) Sulphur dioxide 
 c) Fluorine   d) Carbon dioxide 

fuEu esa ls fdl xSl dk iz;ksx ihus ds ikuh dks 'kq) djus esa gksrk gS 
a) Dyksjhu   b) lYQj MkbvkWDlkbM 
c)  Q~yqvksfju  d) dkcZu MkbvkWDlkbM 
 

22.  The first news paper of India was 
 a) Bengal Gazette b) Calcutta Review  
 c) The Hindu  d) Mumbai Samachar  

Hkkjr dk igyk lekpkj i= Fkk& 
a) caxky xStsV  b) dydRrk fjO;w 
c)  n fgUnw   d) eqcabZ lekpkj 
 

23.  Light-year is the unit of - 
 a) Energy  b) Intensity 
 c) Age   d) Distance  

*izdk'ko"kZ* fdldh bdkbZ gS \ 
a)  ÅtkZ   b) rhozrk 
c)   vk;q   d) nwjh 
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24.  The green house effect refers to the  
 a) Building up of pollution in the atmosphere    
 b) Gradual warming of the earth's atmosphere 
 c) Hole in the ozone layer 
  d) Increase in human population of the earth 

*xzhu gkml bQsDV* D;k bafxr djrk  gS \ 
a)   okrkoj.k esa iznw"k.k dk gksukA 
b)  iF̀oh ds okrkoj.k dk rkieku /khjs&/khjs c<+ukA 
c)  vkstksu ijr esa fNnzA 
d)  iF̀oh ij ekuo tula[;k dk c<+ukA 
 

25.  The first talkie film of India is  
 a) Raja Harishchandra b) Jhansi ki Rani 
 c) Alam Aara  d) Nowjwaan 

Hkkjr dh igyh cksyrh fQYe gS& 
a)  jktk gjh'kpUnz  b) >kaWlh dh jkuh 
c)  vkye vkjk  d) ukStoku 
 

26. The shaking of earth is called 
 a) Tsunami  b) Volcano 
 c) Earthquake   d) Landslide 

iF̀oh dk fgyuk dgykrk  gS & 
a)  lqukeh   b) Tokykeq[kh 
c)  Hkwdai   d) HkwqL[kyu 
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27.  “Pushp ki Abhilasha” is a famous poem written by  
 a) Ram Dhari Singh Dinkar   b) Maithalisharan Gupt 
 c) Makhanlal Chaturvedi        d) Jaishankar Prasad 

izfl) fgUnh dfork *iq"Ik dh vfHkyk"kk* fuEu esa ls fdlds }kjk fy[kh 
xbZ  gS & 
a)  jke/kkjh flag fnudj b) eSfFkyh'kj.k xqIr 
c)  ek[kuyky prqosZnh d) t;'kadj izlkn 
 

28. Which of the following is not a Primary Color? 
 a) Blue   b) Green 
 c) Black   d) Red  

fuEu esa ls dkSu lk izkFkfed jax ugha gS & 
a)  uhyk   b) gjk 
c)  dkyk   d) yky 
 

29.  Who wrote Ramcharit Manas- 
 a) Surdas  b) Kalidas  
 c) Tulsidas  d) Ravidas 

jkepfjr ekul dh jpuk fdlus dh gS \ 
a)  lwjnkl   b) dkyhnkl 
c)  rqylhnkl  d) jfonkl 
 

30. "Nehru cup" is associated with which of the following   
 a) Cricket    b) Hockey  
 c) Golf   d) Football  

*usg: di* fuEu esa ls fdlls lacaf/kr gS & 
a)  fdzdsV   b) gkWdh 
c)  xksYQ   d) QqVckWy 
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31.  Bamboo is classified as - 
 a) Bush   b) Weed 
 c) Grass   d) Tree 

ckal fdl oxZ esa gS - 
a) >kM+h   b) [kjirokj 
c)  ?kkl   d) isM+ 
 

32. A nick-name 'Seven Sisters' has been given in India to  
 a) Seven North-Eastern States   
 b) Seven Holy rivers of North 
 c) Seven important temples of goddess Durga  
 d) Seven lakes of Bharatpur  

*lsou flLVj* uke Hkkjr esa fdlds fy, izpfyr gSaS 
a)    mRrj iwoZ Hkkjr ds lkr jkT; 
b)  mRrj dh lkr ifo= ufn;kaW 
c)  nsoh nqxkZ ds lkr egRoiw.kZ eafnj 
d)  Hkjriqj dh lkr >hy 
 

33. In which following cities "Mono Rail" is introduced 
 a) Chennai  b) Delhi 
 c) Kolkata  d) Mumbai 

lkoZtfud ;krk;kr ds lk/ku ds :Ik esa *eksuks jsy* dgkaW izkjEHk gqbZ \ 
a)  psUubZ   b) fnYyh 
c)  dksydkrk  d) eqacbZ 
 

34.  Which is the largest Continent of the world?  
 a) Europe   b) Africa 
 c) Asia   d) Australia 

fo'o dk lcls cM+k egk}hi gS& 
a) ;wjksi   b) vQzhdk 
c)  ,f'k;k   d) vkLVªsfy;k 
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35. Which planet is the largest is size. 
 a) Jupiter  b) Earth 
 c) Saturn  d) Venus 

vkdkj esa lcls cM+k xzg gS& 
a)  cg̀Lifr   b) iF̀oh 
c)  'kfu   d) 'kqdz 
 

36. The science dealing with the internal structure of animals, 
plants or human body is- 

 a) Anatomy   b) Agronomy 
 c) Aerobiology  d) Anthropology  

ikS/kks&thoksa vkSj ekuo dh vkarfjd lajpuk ls lacaf/kr foKku gS& 
a)  ,ukVkWeh   b) ,xzksukWeh 
c)  ,jksckW;yksth  d) ,UFkkzsiksyksth 
 

37. Which is the hardest known substance?  
 a) Brass   b) Bronze 
 c) Diamond  d) Graphite  

lcls vf/kd dBksj inkFkZ ds :i esa tkuk tkrk gS & 
a)  ihry   b) dkWlk 
c)  ghjk   d) xzsQkbV 
 

38. Which is the most abundant element in the earth's 
atmosphere? 

 a) Nitrogen  b) Oxygen 
 c) Carbon dioxide  d) Hydrogen   

iF̀oh ds okrkoj.k esa lcls T;knk ek=k esa ik, tkus okyk rRo gS & 
a)  ukbVªkstu  b) vkWDlhtu 
c)  dkcZu MkbvkWDlkbM d) gkbMªkstu 
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39. The blood group that is also called universal donor is- 
 a) O   b) A 
 c) B    d) A B 

fdl jDr lewg dks lkoZf=d nkrk dgrs gS \ 
a) O   b) A 

 c) B    d) A B 
 
40. Which body part is affected by the disease Hepatitis? 
 a) Brain   b) Liver 
 c) Joints   d) Kidney 

*gSfiVkbfVl* chekjh ls ’kjhj dk dkSu lk vax izHkkfor gksrk gS \ 
a) fnekx   b) ftxj 
c) tksM+   d) xqnsZ 
 

41- dfo 'kCn dk L=h fyax gSA  
 a) dfof;=h  b) dfo=h 
 c) dfo;=h   d) dof;=h 
 
42- xg̀ 'kCn dk i;kZ;okph gSA 
 a) edku  b) dejk c) ?kj  d) clsjk 
 
43- ^vkej.k* 'kCn esa dkSu lk milxZ iz;qDr gqvk gSA 
 a) vk  b) vke  c) vke~  d) vkej~ 
 
44- mi;qDr 'kCn Nk¡Vdj fjDr LFkku Hkfj,A 
 bl rkykc dh lHkh _____ ej xbZ gSA 
 a) eNyh  b) eNfy;ksa c) eNfy;k¡ d) eNfy;k,as 
 
45- mfpr fodYi pqfu,& yrkvksa dk --------------------------- gSaA 
 a) >qaM  b) tRFkk c) daqt  d) ny 
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46- izfrdwy dk vFkZ gSA  
 a) BaMk  b) egRoiw.kZ c) foijhr c) leku 
 
47- ^cky dh [kky fudkyuk* eqgkojs dk vFkZ gSA 
 a) cgqr Nku&chu djuk  b) lqjf{kr jguk 
 c) cgqr ykHk gksuk   d) cgqr ljy gksuk 
 
48- mi;qDr eqgkojs dk iz;ksx dhft,A 
 rqEgkjk ?kksM+k bruk rst gS fd og - 
 a) vka[kksa esa /kwy >ksad nsrk gSA   
 b) cM+s&cM+ks ds dku dkV ysrk gSA 
 c) gok ls ckrsa djrk gSA 
 d) Qwyk ugh lekrk gSA 
 
49- ^,d rks djsyk nwts uhe p<+k* yksdksfDr dk vFkZ gSA 
 a) ,d djsyk vkSj uhe dk gksuk 
 b) nksuksa dk dM+ok gksuk 
 c) nksuksa esa nks"k gksuk 
 d) ,d nks"k Fkk gh nwljk vkSj yx tkuk 
 
50- lw;Z dk lEcU/k xehZ ls gS mlh izdkj pUnzek dk lEcU/k fuEu esa ls 

fdlls gS? 
 a) izdk'k  b) pk¡nuh c) jks'kuh d) 'khryrk 
 
51- ^de [kpZ djus okyk* dgykrk gSA 
 a) ferO;;h b) vYiK c) okpky d) loZK 
 
52- dkSu lk tksMk lgh ugha gSA 
 a) utj&nf̀"V   b) lqcg&izkr%  

c) vtZ&QtZ   d) xqukg&vijk/k 
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53- ^vPNk* 'kCn ls cuus okyh Hkkookpd laKk gS - 
 a) vPNRo   b) vPNkiu  

c) vPNs   d) vPNkbZ 
 

54- ^fo'okl?kkrh fe= gksuk* ds fy, mi;qDr eqgkojk gSA 
 a) vkLrhu dk lkai b) fxjfxV dh rjg jax cnyuk 
 c) jaxk fl;kj gksuk d) viuk mYyw lh/kk djuk 
 
55- fjDr LFkku ds fy, lgh 'kCn Nk¡fV,A 
 tku os;MZ us VsyhQksu dk ----------------------------- fd;kA 
 a) vuqla/kku  b) vfo"dkj   

c) [kkst   d)  vUos’k.k 
 

56- ^rk* izR;; dk mi;ksx fuEu esa ls fdlds lkFk ugha gksrkA 
 a) laqnj   b) lkSUn;Z   

c) y?kq   d) fut 
 

fuEufyf[kr dkO;ka'k dks i<dj 57 ls 61 iz'uksa ds lgh mRrj pqfu,A 
isM+ lgdj /kwi [kqn nsrs lHkh dks NkWg viuh] 
enn djus dks c<+krs] Mkfy;ksa&lh ckWg viuh A 
[khaprs jgrs fujarj ;s gok xanh gekjh] 
;s gesa feyrh bUgha ls izk.k&ok;q fo'kqn~/k lkjh A 
Lkhaprs /kjrh gekjh cknyksa dks Hkh cqykrs] 
Tky cjlrk [ksr&miou ou lHkh gSa ygygkrsA 

57- mi;qZDr dkO;ka'k dk mi;qDr 'kh"kZd pqfu, A  
 a) isM+    b) gok  c) ckny d) miou 

       
58- isM+ dh ckWgsa fdls dgk x;k gS \ 
 a) iRrksa dks   b) Qyksa dks   c) Mkfy;ksa dks   d) rhuksa dks    
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59- nwf"kr gok dks [khapdj isM+ D;k djrs gS \  
 a) o"kkZ djokrs gSA      

b) QuhZpj dh ydM+h iznku djrs gSA  
 c) fo'kqn~/k izk.k&ok;q iznku djrs gS    

d) Qy nsrs gSA    
    

60- /kjrh dks lhapus ds fy, isM+ fdldk vkg~oku djrs gS\  
 a) leqnz dk    b) ouksa dk    c) ioZrksa dk   d) cknyksa dk    
  
61- o"kkZ gksus ij D;k&D;k phtsa ygygkrh utj vkrh gS \  
 a) [ksr    b) miou    c) ou  d) rhuks  

  
62. A collection of people is  
 (a) Army  (b) Crowd  (c) Jury (d) Herd  
 
Directions (Q 63 to Q 69): Fill in the blanks with the 
appropriate word given below: 
 
63. My father ..........................to meet you. 
 (a) wants  (b) want  (c) shall want    (d) will want  
 
64. Wait for Hari and .................... 
 (a) I   (b) me  (c) mine  (d) my 
 
65. We always like the boys ...................speak the truth. 

(a) Whom   (b) which  (c) who (d) what  
 

66. Don't disturb me, I ...........................my home work. 
(a) Do  (b) did  (c) am doing     (d) done  
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67. I am fond ....................music.  
 (a) About  (b) of    (c) off  (d) for  
 
68. I have not seen him ......................Wednesday last. 
 (a) For  (b) since   (c) at   (d) to  
 
69. I shall do it ................. pleasure.  
 (a) For  (b) to    (c) by  (d) with  
 
70. He is a very timid person. The most opposite to timid is:  
 (a) Dashing   (b) Out going   
 (c) Bold   (d) Chivalrous  
 
71. Opposite of the word fictitious is: 
 (a) Real (b) Imaginative  (c) Fancy  (d) Foreign 
 
72. He was warned at the outset of his career. The word which 

best express the meaning of ‘outset’ is  
  (a) End (b) beginning (c) middle (d) entrance  
 
73. Judicious means  
 (a) Nervous  (b) helpful  (c) sensible  (d) strong  
 
74. I ran fast..........I missed the train  
 (a) But (b) so   (c) that  (d) till 
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Directions (Q 75 to Q 76): Complete the proverb with the 
correct alternative: 
75 Empty ...........make the most noise. 
 (a) cups  (b) vessels  (c) boxes  (d) tools  
 
76 An...............a day keeps doctor away.  
 (a) Orange  (b) egg (c) apple  (d) Almond 
 
77. Which of the following comes third in dictionary?  
 (a) Master  (b) Meals  (c) Marbles (d) Metals 
 
78. The word 'assessment' means 
 (a) Enquiry  (b) report (c) evaluation (d) Summary 
 
79. Which word is correctly spelt?  
 (a) Grammar   (b) Grammer   
 (c) Gramar   (d) Grameer 
 
80. Which of the following is not a correct pair?  
 (a) Credible  - Incredible 
 (b) Visible  - Invisible  
 (c) Capable  - Incapable  
 (d) Ever  - Inever  
 
81 Choose the correct word to complete the sentence - The 

teacher smiled _______ 
 (a) happy  (b) sweet (c) angry (d) sweetly    
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Directions (Q 82 to Q 86): Fill in the blanks with the correct 
option: 
funsZ’k% (iz-82 – iz-86) lgh fodYi }kjk fjDr LFkkuksa dh iwfrZ djsa 
82. 27     ÷   …………  =    -15     
 16                       8 
 (a)  9  (b) -9                                      
  10   10 
 (c)  8  (d) -15                                      
  -15      8 
 
83. -5     -  …………  =    - 1      
  7              
 (a)  2   (b) 7                                      
  7    2 
 (c)  -2   (d) - 7                                      
  7      2 
 
84. 360000 can be written as  ------------ 
 360000  dks fy[kk tk ldrk gSA  
 (a)  3.6 x 105  (b) 36 x 105                               
 (c)  0.36 x 105  (d) 3.6 x 10-5  
                                      
85. (3/5) 0   = ? 
 (a)  5/3   (b) 3/5    
 (c) 1   (d) 0 
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86. The value of (-3)-3   is  -------- 
 (-3)-3   dk eku gS& 
 (a) -27 (b) 9  (c) -1 (d)  1               

     27  27     
   
87. If 5y6 is exactly divisible by 3, then the least value of y is         

;fn  5y6 la[;k dks 3 ls iwjh rjg ls Hkkx fn;k tk ldrk gSa] rc  y 
dh U;wure eku gS&                       

 (a) 0 (b) 1  (c) 2 (d) 3 
 
Directions (Q 88 to Q 96): What will come in place of 
question mark (?) in the following questions? 
funsZ’k% (iz-88 – iz-96)  fn;s x;s iz’uksa esa iz’ufpUg (?) ds LFkku ij D;k vk,xk 
88. 7368 ÷ 24 x 17 = ? 

(a) 5129   (b) 5229                                                     
(c) 5219   (d) 5119   
  

89. 65% of 780 + 78% of 650  = ? 
(a) 507   (b) 1014                                                     
(c) 1011    (d) 817   
 

90. 3.75 + 13.07 + 143.05  = ? 
(a) 159.75  (b) 159.075                                                     
(c) 159.715  (d) 159.87   
 

91.  3 of  4 of   7  of 1080  = ?     
  8      9       12                                            

(a) 120   (b) 119                                                     
(c) 115    (d) 105        
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92. 1456 + 3982 - 2222 = ? 
(a) 3216   (b) 3126                                                  
(c) 3326    (d) 3316   
 

93.    0 ÷ -7  =  ? 
     5 
(a) NOT DEFINED vifjHkkf"kr  (b) -5/7 
(c) 0        (d)  5/7 
 

94.   6 – (-8) = ? 
(a)  2   (b) 14 
(c)       -2     (d)  -14 
 

95.  2 Kg 5 gm = ?  
(a)  2.5 Kg   (b) 2.05 Kg 
(c)       2.005 Kg    (d)  2.0005 Kg 
 

96.  If a*b = a + b – 4, then 8*6 = ? 
 ;fn a*b = a + b – 4, rc 8*6 = ?  

(a)  16   (b) 11 
(c)      10     (d)  7 
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Directions (Q 97 to Q 101): What will come in place of 
question mark (?) in each of the following series: 
funsZ’k% (iz-97 – iz-101) fuEufyf[kr Jsf.k;ksa esa iz’ufpUg (?) ds LFkku ij lgh 
fodYi pqusa& 
97. 17, 52, 158, 477, ? ,  4310 

(a) 1433   (b) 1432                                                  
(c) 1435   (d) 1434     
 

98. 3, 22,  ?,  673, 2696, 8093 
(a) 133   (b) 155                                                  
(c) 156   (d) 134         
 

99. 286, 142,  ?, 34, 16, 7 
(a) 66   (b) 72                                                 
(c) 64   (d) 70 
 

100. 6, 13,  38, ?,  532, 2675 
(a) 129   (b) 123                                                  
(c) 172   (d) 164   
 

101. 17, 9,  ? , 16.5, 35, 90 
(a) 5   (b) 15                                                  
(c) 10   (d) 20        
 

102. 662 – 342 = ? 
(a) 3600   (b) 3200                   
(c) 2146    (d) 2466 
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103. Which of the following factors are in descending order 
fuEu esa ls cM+s ls NksVs ds dze esa gSa& 
(a)  5      2      3       2      1  (b) 2        2       3       1        5

      12     7      11     9       5                 7        9      11      5      12 
(c) 1       2      3       2      5      (d) 5        3       2        2       1                                 

5        9     11      7     12  12      11     7        9       5   
     

104. The average of 5 numbers is 65. The average of the first 
two numbers is 81 and the average of the last two numbers 
is 38. What is the third number? 
ikaWp vadksa dk vkSlr 65 gSA igys nks vadksa dk vkSlr 81 gS vkSj vfUre 
nks vadks dks vkSlr 38 gSA rhljk vad D;k gSa \ 

 (a) 63    
 (b)  87   

(c) 99   
(d)   Can’t be determined ugha fudkyk tk ldrk 
 

105. 3  = ?                                      
5 

 (a) 30% (b) 40 % (c) 45%  (d) 60% 
 
106.   At 7.00 am, the temperature is -60F. The temperature is 80F 

higher at noon. Which one of the following expressions can be 
used to calculate the temperature at noon? 
lqcg 7%00 cts rkieku& 60 F gSA nksigj esa 80 F vf/kd gSA fuEu esa 
fdl laca/k }kjk nksigj dk rkieku fudkyk tk ldrk gSa& 
(a)  -6 + 8   (b) -6 - 8     
(c)   8 – (-6)     (d)  8 + 6 
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107. On selling a football for Rs 100, a man gains Rs.15. The 
cost price of the football is 
(a)  Rs.115  (b)  Rs. 85    
(c)  Rs.70       (d)  Rs.135 
,d QqVcky dk fodz; ewY; 100 :Ik;s gSaA ml ij ykHk 15 :Ik;s gSA 
QqVcky dk dz; ewY; gSa- 
(a)  115  :Ik;s  (b)    85  :Ik;s  
(c) 70  :Ik;s   (d)   135  :Ik;s 

 
Directions (Q  108   to Q 111 ): The graph shows the number 
of electric bulbs sold in a shop during a week. Study the 
graph carefully and answer the questions: 
funsZ’k% (iz- 108 – iz- 111) fn;k x;k xzkQ ,d nqdku esa lIrkg Hkj esa fctyh 
ds cYcksa dh fcdzh crkrk gSaA xzkQ dk lko/kkuh ls v/;;u dj fuEu iz’uksa ds 
mRrj nsaA 
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108.  On which day of the week was the sale minimum?  
(a)  Monday  (b) Thursday 
(c)        Friday    (d) Saturday 
lIrkg esa fdl fnu fcdzh U;wure gSa \ 

 (a)  lkseokj   (b) xq:okj     
(c)    ’kqdzokj  (d)  ’kfuokj 
 

109.  On which day of the week was the sale maximum? 
(a)  Monday   (b) Thursday 
(c)  Friday     (d) Saturday 
lIrkg esa fdl fnu fcdzh vf/kdre gSa \ 
(a)  lkseokj   (b) xq:okj     
(c) ’kqdzokj   (d)  ’kfuokj 
 

110.  What was the total sale of bulbs during the week? 
(a)  750   (b) 850 
(c)       800      (d) 900 
lIrkg esa dqy fdrus cYcksa dh fcdzh gqbZ \ 

 (a)  750    (b) 850     
(c)    800    (d)  900 
 

111.  What is the ratio between the minimum sale and the 
 maximum sale? 

(a)  1 :  5  (b) 1 :  2       (c) 1 :  4  (d)  1 :  3 
U;wure vkSj vf/kdre fcdzh dk vuqikr D;k gSa \ 

 (a)  1 % 5  (b) 1 % 2 (c)   1 % 4 (d)  1 % 3 
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Directions (Q 112 - Q 116): In each of the following 
questions, four words have been given out of which three are 
alike in some manner, while fourth one is different. Choose 
the word which is different from the others. 
funsZ’k% (iz- 112 –iz- 116) iz’uksa esa fn, x, pkj fodYiksa esa rhu ,d izdkj dh 
lekurk j[krs gS] tcfd pkSFkk fHkUu gSaA fHkUu fodYi dks fn, x, fodYiksa esa ls 
NkafV,aWA 
112. (a) Bulb : Light   (b) Watch : Time 
 (c) Barometer : Pressure (d) Milk : Fruit 
 (a) cYc % izdk’k   (b) ?kM+h  % le; 
 (c)  csjksehVj % nkc   (d) nw/k % Qy 
 
113. (a) House    (b) Bungalow 
 (c) Hut    (d) Office 

(a) ?kj    (b) caxyk 
 (c) >ksiM+h     (d) vkWfQl 
 
114. (a) Sharp : Blunt   (b) True : False 
 (c) Promise: Hope   (d) Right: Wrong 

(a) uqdhyk % likV   (b) lp  % >wB 
 (c) oknk % vk’kk   (d) lgh % xyr 
 
115. (a) 21    (b) 23  

(c) 17    (d) 31 
 

116. (a) DONE : NOED   (b) WANT : NATW 
 (c) HAVE : AVEH   (d) JUST : SUTJ 
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Directions (Q 117- Q 120): In each of the following questions, 
there is a relationship between two given words on one side of : : 
and one word is given on another side of : : while another word 
is to be found from the given alternatives, having the same 
relation. Choose the correct alternative. 
funsZ’k% (iz- 117 – iz- 120) fn, x, iz’uksa esa ¼% %½ ds ckbZ vksj ds ’kCnksa esa ,d 
laca/k fn;k gSA fn, x, fodYiksa esa ls ¼% %½ ds nkbZ vksj oSlk gh laca/k LFkkfir 
dhft,A 
117. XYZ : WVU : :  ?  : CBA 
 (a)  UVW    (b) ABC   

(c)  FED    (d) DEF 
 

118. Motorcycle : Battery : : Life : ? 
 (a) Earth         (b) Sun   (c) Moon     (d) Star 

eksVj lkbfdy % cSVjh % % thou % \ 
 (a) iF̀oh  (b) lw;Z  (c) pUnzek  (d) rkjk 
 
119. Drama : Scene : : Book : ?  

(a) Story   (b) Page      (c) Chapter     (d)  Author 
ukVd % n’̀; % % fdrkc % \ 

 (a) dgkuh (b) IkUuk (c) v/;k;  (d) ys[kd 
 
120. Mirror : Reflection : : Water : ?  

(a)   Conduction      (b) Dispersion     
(c)   Solution   (d)     Refraction 
niZ.k % ijkorZu % % ikuh % \ 

 (a)  lapj.k   (b) foorZu  
(c)  foy;u              (d) viorZu 
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121. In a certain code, SYSTEM is SYSMET and NEARER 
is AENRER. What is the code for FRACTION? 
,d dksM ds vUrxZr SYSTEM dks SYSMET vkSj NEARER 
dks AENRER fy[kk tkrk gSA blh dksM esa FRACTION dks 
fy[ksaxs 

 (a) CARFNOIT   (b) FRACNOIT    
(c) ARFCNOIT   (d)      CARFTINO 
 

Directions (Q 122- Q 126): Study the following information 
carefully and answer the questions given below: 
A, B, C, D, E, F, G and H are sitting around circle facing at 
the centre. C is third to the left of A and second to the right 
of E. B is second to the right of C. D is second to the right of 
F who is second to the right of A. G is not an immediate 
neighbor of C. 
funsZ’k% (iz- 122 – iz- 126) uhps nh xbZ lwpuk ds vk/kkj ij fn, x, iz’uksa ds 

mRrj nks& 
A, B, C, D, E, F, G vkSj H oR̀r ds fxnZ dsUnz dh vksj eqaWg fd, gq, cSBs gSaA 
C , A ds ckbZ vksj rhljk vkSj E ds nk,s vksj nwljk gSaA B, C ds nk,s vksj 
nwljk gSaA D, F ds nk,s vksj nwljk gS vkSj F, A ds nk,s vksj nwljk gSA G, C 
dk fudVrd iM+kslh ugha gSaA 
 
122. Who is to the immediate right of C? 

C ds fudVre nk,s esa dkSu gS ? 
 (a) H  (b) G        (c)    D (d) C  
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123. Who is to the immediate right of H? 
(a) D    (b) G         
(c)  A       (d) None of these 
H ds fudVre nk,s esa dkSu gS ? 

 (a)  D    (b) G 
      (c)   A   (d)   buesa ls dksbZ ugha  
 
124. Who is to the immediate left of D? 

D ds fudVre ck,s esa dkSu gS ? 
 (a)  C    (b) H          
 (c)   F    (d)  E 
 
125. Who is third to the right of H? 

H ds nk,s esa rhljk dkSu gS ? 
 (a)  E    (b)  F          
 (c)   D   (d)  G 
 
126. Who is second to the right of H? 

G ds nk,s esa nwljk dkSu gS ? 
 (a) A    (b)  D          
 (c) E    (d)  B 
 
127. If red means white, white means yellow, yellow means 

blue, blue means violet, violet means red then which of the 
following represents the colour of mustard flower. 

 (a) yellow  (b) red (c) white (d)  blue 
;fn yky dk vFkZ lQsn] lQsn] dk vFkZ ihyk] ihys dk vFkZ uhyk] uhys 
dk vFkZ cSxuh] cSaxuh dk vFkZ yky gS rks fuEu esa ls D;k ljlksa ds Qwyksa 
dk jax crkrk gS \ 
(a) ihyk  (b) yky     (c) lQsn     (d)  uhyk 
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128. Among A, B, C, D and E each are having a different 
amount of money. C has more money than only E, B, A. 
Who among them has the highest amount of money? 
A, B, C, D vkSj E esa izR;sd ds ikl fHkUu&fHkUu ek=k esa iSlk gSaA C 
ds ikkl dsoy E, B vkSj A ls T;knk iSlk gSaA fuEu esa ls fdlds ikl 
lcls T;knk iSlk gSa ? 

 (a) C  (b) D     (c)    E    (d)  A 
 
129. M is the sister of K, D is the brother of K, F is the mother 

of M. How is K related to F? 
 (a) sister       (b) brother      
 (c) nephew     (d) son or daughter 

M, K dh cgu gS] D, K dk HkkbZ gSA F, M dh ekaW gSA K dk F ls 
D;k laca/k gS ? 

(a) cgu    (b) HkkbZ     
(c)   Hkrhtk  (d) csVk ;k csVh 
 

130. If ‘P’ denotes ‘multiplied by’, ‘R’ denotes ‘added to’, ‘T’ 
denotes ‘subtracted from’ and ‘W’ denotes divided by, 
then 

  64 W 4 P 8 T 6 R 4   
;fn ’P’ bafxr djrk gS *xq.kk djuk* ’ R’ bafxr djrk gS *tksM+uk*] 
’T’ bafxr djrk gS *?kVkuk* vkSj ’W’ bafxr djrk gS *Hkkx nsuk*] rc  
  64 W 4 P 8 T 6 R 4 dk eku gSa &  
 
(a) 96    (b) 130  (c) 24   (d)  126 
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131.  B2C Stands for  
B2C ls rkRi;Z gS & 
(a) Business to Computer (b) Business to Customer 
(c) Business Computer (d) None of the above 
 

132.  Which of the following is a spreadsheet? 
 fuEu esa ls LiszM'khV dkSu lk gS & 
(a) MS-Excel   (b) MS-Word 
(c) MS Power Point  (d) None of the above 
 

133. An input device that is used widely in supermarkets is  
(a) Keyboard   (b) Mouse  
(c) Track balls   (d) Bar Code Reader 
lqij ekdsZV esa cgqr mi;ksx gksus okyk fMokbl dkSu lk gS & 

 (a)   dhcksMZ    (b)  ekml 
 (c)  Vsªd ckWYl   (d)  ckj dksM jhMj 
 
134. Computer stores data in _________ form. 

(a)  Analog data  (b) Digital data 
(c)  Modem data  (d) What’s data 
daI;wVj esa jpuk -------------- ds :Ik esa LVksj gksrh gSaA 

 (a)  ,ukykWx MkVk   (b) fMftVy MkVk 
 (c)  eksMse MkVk   (a)  okV~l MkVk 
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135.  Hardware devices which are not part of computer 
system and usually added afterwards are called 
(a)  Clip Art  (b) ILight 
(c) Execute  (d) Peripherals 
mu gkMZos;kj fMokblksa dks D;k dgrs gSa tks eq[; daI;wVj flLVe dk 
Hkkx ugha gksrs gSa vkSj izk;% flLVe esa ckn esa tksM+s tkrs gSa \ 

 (a)  fDyi vkVZ  (b)  vkbykbV 
 (c) ,DthD;wV  (d)  isfjQjy 
 
136.  The word in web pages, when clicked, is used to open 

another page is called- 
(a)  Markup  (b) Hyperlink 
(c) Reference  (d) Domain name 
osc ist esa dkSu&lk ’kCn gS] ftls fDyd djus ij nwljk MkD;wesaV 
[kqy tkrk gSaA 

 (a)  ekdZvi‘  (b)   gkbijfyad 
 (c) jsQjsal   (d)   Mksesu use 
 
137. Which will perform the computation and logical 

operations? 
deI;wVs’ku vkSj ykWftdy vkijs’ku dkSu djrk gSa \ 
(a) RAM jse  (b) ALU ,y;w  
(c) Register jftLVj (d) Control Unit  daVªksy ;wfuV 
 

138.  To print any document press __________ and then 
press Enter key 
fdlh MkD;wesaV dks fizaV djus ds fy, -------------- izsl djsa] fQj Enter  
izsl djsaaA 

 (a) SHIFT + P  (b) CTRL+ P  
 (c)  ALT + P  (d) ESC + P  
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139.  The operating system is loaded, when computer is 
started is called _______ 
(a) Booting  (b) Flashing  
(c) Tracking  (d) Taping 
----------- rc gksrh gS tc daI;wVj dks vkWu fd;k tkrk gS vkSj vkWijsfVax 
flLVe yksM gks jgk gksrk gSA 

 (a) cwfVax   (b) Q~ySf’kax 
 (c) Vªsfdax   (d) Vsfiax 
 
140. The error in computer program is called 

(a) Virus   (b) Bug  
(c) Cache  (d) Power Failure 
daI;wVj izksxzke esa =qfV dks dgrs gSaA 

 (a) ok;jl   (b) cx 
 (c) dzS’k   (d) ikoj QsY;qvj 
 
141. Another word for CPU is  

(a)  Microprocessor (b) Execute 
(c) Micro Chip   (d) Decode 
 CPU ds fy, nwlj ’kCn gSa&  
(a) ‘ekbdzksizkslslj  (b) ,DthD;wV 

 (c)  ekbdzks fpi  (d) MhdksM 
 
142.  Printer is _____________ device 

(a)  Input   (b) Output 
(c)   Processor      (d) Software 

 fizaVj bl izdkj dk fMokbl gSaA 
 (a) buiqV   (b) vkmViqV 
 (c) izkslslj   (d) lkWQ~Vos;j 
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143.  Small single site network is called 
NksVk flaxy&lkbV usVodZ fuEu esa ls fdls dgrs gSaA 
(a)   LAN  (b)  DSL 
(c)    RAM       (d) USB 
 

144.  The default file extension of word document is 
oMZ MkD;wesaV ds fy, fMQkYV Qkby ,DlVsa’ku D;k gSa \ 
(a) .TXT   (b) .WRD 
(c)  .FIL     (d)  .DOC 
 

145. Extension of KB related to computer is- 
daI;wVj la{ksi KB dk iwjk :Ik gSaA 

 (a)  Kay Block  (d) Kernel Boot 
 (c) Kilo Byte  (d) Kit Bit 
 
146  If you want to move an icon over desktop, then it is 

called 
(a) Double Clicking (b) Highlighting 
(c) Dragging    (d) Pointing 
;fn vki vius MsLdVkWi ij ,d vkbdu dks ewo djuk pkgrs gSa rks 
bls --------------dgrs gSaA 

 (a)  Mcy fDyfdax  (b) gkbykbfVax 
 (c)  Mªsfxax   (d) IokbafVax 
 
147.  Which of the following is not hardware? 

(a)  MP3 File  (b) Key-Board 
(c)  Disk Drive    (d) Monitor 
dkSu&lh gkMZos;j vkbVe ugha  gSa \ 

 (a) MP3 Qkby  (b) dh cksMZ 
 (c) fMLV Mªkbo  (d) ekWuhVj 
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148. The string of  80’s and 1’s is called  
(a) Megabyte  (b) Kilobyte 
(c)  Gigabyte  (d) Byte 
vkB 0s vkSj 1s ds fLVªax dks -------------- dgrs gSaA 

 (a) esxkckbV  (b) fdyksckbV 
 (c) xhxkckbV  (d) ckbV 
 
149.  The text that you want to print on the bottom of the 

page- 
(a)   Header  (b) Endnode 
(c)   Footnote     (d) Footer 
----------- VsDLV gksrk gS ftls vki ist ds ckWVe esa fizaV djuk pkgrs gSaA  

 (a) gsMj   (c) ,aMuksV 
 (c) QqVuksV   (d) QqVj 
 
150.  To access the properties of an object,  ______ mouse 

technique is useful 
(a)  Dragging  (b) Droping 
(c)  Right Clicking   (d) Shift Clicking  
,d vkWCtsDV dh izkWiVhZt dks ,Dlst djus ds fy, ekml dh 
dkSu&lh VsDuhd iz;ksx esa ykbZ tkrh gS \ 

 (a)  MªSfxax   (b) MªkWfiax 
 (c)  jkbV fDyfdax  (d) f’k¶V fDyfdax 
 
 


